a(6 @) (rad)

10™ -

aoa, ) (cm)

Ratio

[N
S
w

METENETE AT S B ET TS BT R ETE N e 61 1|
PRV

a0 p,/p,)

0.

08

2 3

TP n (PCA to beamline)

a(d cot(B)

Ratio

1072

—=— DQM_original_step2__pt1000_etalp6to2p0
—e— DQM_mkFit_step2__pt1000_etalp6to2p0
—— DQM_pixelCPETemplate_step2_ pt1000_etalp6to2p0

=3 -2 -1 0 1

2 3

B U TR OV T T

9

i

=)
Q[T
N

|
=
o

2 3

TP n (PCA to beamline)

=107

z

o(®d) (cm

1072

Ratio

METENErE B AT S B ET TS BV A ETE A B 1 N A
- - -

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


